Math 122 - Test 2

Oct 14 2015

Question 1: Use the definition of the definite integral in the form
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Question 2: Determine the average value of f(x) = () sin (x) over the interval [0,7/2] .
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Question 3: A town's population is changing at a rate of 30t(2 — t) people per year where ¢ = 0 corresponds
to the present. Determine the population size at the end of two years if the population is currently 100.
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Question 4: Determine the following integrals:

(a) /1+X+\/;dx
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Question 5: Determine the following integrals:
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Question 6: Find both the number a and the function f such that
6+ / %t) dt = 2+/x

for every x > 0 . (Hint: differentiate both sides of the equation.)
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Question 7: Use an area interpretation to determine / x+vV1-—x2dx
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